21_611

21_6”

21_611

0.3

16.2

L=

(c

|-

variable
see note 2

6"

STEEL FRAME GATE

31_01)

variable

PIPE FRAME GATE

‘_mnlouu

31_011

S

NN\ ||

LN

|t 11

variable

6"

METAL PANEL

GATE

31_01)

A.: ‘_m.lo: A.:

1-=1/1" x 5” wrought steel strip hinges bolted
to gate with 2—3/8" x 3—1/2" galv. bolts -

variable

of —\ 2
o5 —ThE =N 7
83 ~
|
..nnlnw W % — _\ /|H|
: 5 _
o z
(7] o 2
| o
4 R
_ L] )
TYPE A I
’
16 WOODEN GATE
4" 16'-0" 4"
[ [l
o[ ] [
Q4=
sls §[E
S|g e =
Slg <
%) yR_u / nO
- |
N ground L2

TYPE B
16° WOODEN GATE

NOTES:

Post height dimension shall be the same as required for the adjacent
fence.

Construct an end or stress panel, as required in the specifications, on
each side of gate.

Hinges and locks shall be installed as specified by gate manufacturer.

This drawing requires supporting technical documentation prior to
use and must be adapted to the specific site.

Drawing not to scale.

Date
7/05

o o
e,

e .2 3

o

% 5 8 a 2

Q © £ o ¥

o o O <

Natural Resources Conservation Service

United States Department of Agriculture

File Name

or_gates.dwg

Drawing No.

Sheet of




6" max. —=|

1/4” x 1”7 metal strap

3/8" machine bolt
w/locking nut

=
I~
ja

i
)

%broce post

PLAN VIEW

\open position

closed
position

gate \

Ve <

/

9—gauge smooth wire
loop, staple to brace post

J

ELEVATION

This drawing requires supporting technical
documentation prior to use and must be

adapted to the specific site.

gate post

6”7 max. —=|

1/4" x 1. 1/47
strap

3/8" machine bolt
[w/ock'ng nut

)52

brace post

PLAN VIEW

brace post

etal
lag screws

&ﬁ\ /broce

gate \

\fence ><

-

9—gauge smooth wire
loop, staple to brace post

ELEVATION

Drawing not to scale.

Date CAD FILE NAME
Designed or_gates.dwg
DRAWING NO.
Drawn 7/05
Checked SHEET OF

Approved

GATE LATCH DETAILS

ONRCS  U.S.D.A. NATURAL RESOURCES CONSERVATION SERVICE




Date
7/05

Designed
Drawn
Checked
Approved

Title

- ~ field weld to
| 18'-2 | >~ post after
_ 7 4__. @oﬁ.m.:._
POEI°R—1/2" o.d. x 2-1/2"
% - id. x 1/2" (2 req’d) « «
=T D
) I
PLAN /1 . ﬂ
wmwb,__. - NN:& sch. 40 pipe
. seal weld & grind
. 1_U smooth on other 5| %5
o = side I I
12.0 T ™| 2" sch. wf o
_ » ) ” < . 1 —7
6-1/2 17-0 3 80 pipe 2" sch.
fill post top 5-8" 5_8" 7-1/2" 40 pipe |
w/concrete o ! -
-3 < “._Nﬂ +_ ©
© typ e see LATCH £ 1/4 \ b
/4 : interior pipe shall DETAIL A X 5
" . be 2"¢ sch. 40 fill post top _ I
A | 2"¢ sch. 80 pipe J w/concrete © T
u_}n.., T T grade @ c| of road
I
~ B —
o \ —SEE GUSSET DETAIL D (2 req’d)
Tl r - 2 2 5 . o
¥ = _ L — 6 ¢ sch. 80 pipe x 8 -0
* — o 9 \\\ long (min.)
= 2"% sch. 80 pi /_ K - *
[ sch. pipe ock ©
//{.ﬁl\\lu box /4T
» . s . ~— 2"x 1/4" x 3" bar, m/f
3" angle iron 1'=0" long with a hook » serap. 4 req’d. each post
P 2 made from 7" steel rod welded to nut. e P qd P
| Lag bolt is passed through the nut & R
o) // welded to the angle. N_...&_ sch. 40 @ d in * hold these dimensions
| /( x 7—6" long g when setting posts.
N N — 24"¢ min
» » ; * hold these dimensions
VA M%Omo_:mzwoﬂsﬂﬁ_ﬂcxﬂ:. when setting posts.
, " 4 HINGE POST DETAIL
concrete t\ 2479 247¢
. ELEVATION . «
min min
STEEL PIPE GATE v R e e
*| Mm “u_\hm WELDING SYMBOL LEGEND
\r field weld
DETAIL D
SEE DETAIL B 1'=3" B_Mm_\ mm U.m<m_ L 2”¢ sch. (2 req’d) weld all around
f— ends of pipe 46°41 80 pipe . o
5" sch weld this side
\ m\#v 40 n_.nm/, Am.ﬁ.\ ﬂ -
— » » &I \|V 1
—— | ol . 1 6—1/2 weld other side
40 pipe | © - .
al © A 40 pipe
| \ |+w - ) NOTE:
// -5/16 R The exposed surface of the concrete shall be
3
T/ . . crowned to shed water.
\ "8 sch. 2”8 sch. B_M_Q nw U.m<m_ /4 * )
SEE DETAIL C 80 pipe 80 pipe ends of pipe 2-1/2"¢ hole This drawing requires supporting technical
4—1/2" x 1/2” x 7" plate documentation prior to use and must be
adapted to the specific site.
LATCH DETAIL A DETAIL B DETAIL C DETAIL E
(2 req'd)

Drawing not to scale.

STEEL PIPE GATE

O NRCS

Natural Resources Conservation Service

United States Department of Agriculture

File Name

or_gates.dwg

Drawing No.

Sheet of




@ﬂocsn_N

Q O
B pedestrian walk
through (see notes)
PLAN VIEW
_ AN-IO- \_N-IO:
typical panel length
uulm: _ mulm:

[1 _ﬂ_l_ 1 [1
HIN _
I _
_

_
_ [ Walk through
_

4" to 5” dia. poles

3,—0"

8,—0"

Date
7/05

Designed
Drawn
Checked
Approved

Title

/ 5" to 7" dia. x

8'-0" long posts

ELEVATION
PEDESTRIAN WALK THROUGH

NOTES:

At junctures, members shall be fastened together with 1/4” machine bolts,
including nuts and washers.

2. Post height dimension shall be the same as required for the adjacent fence.

3. Nominal 2" x 4" boards may be substituted for the poles.

PEDESTRIAN WALK THROUGH

O NRCS

Natural Resources Conservation Service

United States Department of Agriculture

File Name

or_gates.dwg

Drawing No.

Sheet of




standard 3—1/2" o.d. galvanized,

scedule 40, steel pipe 8" min
6” min
ouble pos
N double post ®F
2 strands #9 guy wire ] B brace, 3" min
with turnbuckle :
/, ._m.loa H
. * min i
4 see hinge \V_ 1/4” machine bolts
I gate detail see latch with washers H
o Nu:s min ploes amﬁo__l/ _ _
~ -t ~ = \ R / _ ] "
XX f— == ii: IS I E:
XX S 1 3 . :
o N2 2| 12
\\‘\\MVW //X\\‘ N - O SECTION A—A
KERS = A © :
] 2 T 1/4” machine bolts o
0 S S with washers 1_u
- o < 3/8” machine g —1
see gate post A a bolts with washers 1/2"¢ x 10 2 strands #9 galvanized
anchor detail 12 _A.| hook bolt quy wire to gate post
—_— \_N: /
standard 3—-1/2"0.d. galv., L
SWINGING POLE GATE  ex s-3/#" 1o
6" post -
\\V concrete — |

2-3/8" x 4” lag bolts
in predrilled holes

8" post /

5 x 2" x 3" %

4

/

._N: X N: X u:

1/2" - 2-1/4" x 3-1/4"

i
:

3”9 pole

LATCH DETAIL

5/8" bolt & nut

/MM / 18”
washer
washers GATE POST ANCHOR DETAIL

GATE HINGE DETAIL

NOTES:

Other suitable gate post anchors may be substituted upon written approval of the
Contracting Officer.

Holes for bolts shall be predrilled if there is danger or evidence of splitting.

Full—threaded bolts may be used to eliminate the need for different bolt lengths.
Gate post and gate post anchor shall be set in concrete. The concrete mix shall
be according to the specifications. The exposed surface of the concrete shall be

crowned to shed water.

Post height shall be the same as required for the adjacent fence.

This drawing requires supporting technical documentation

prior to use and must be adapted to the specific site. Drawing not to scale.

Date
7/05

Designed
Drawn
Checked
Approved

Title

SWINGING POLE GATE

O NRCS

Natural Resources Conservation Service

United States Department of Agriculture

File Name

or_gates.dwg

Drawing No.

Sheet of




Date
7/05

Designed
Drawn
Checked
Approved

8-1/2" o
. 1/4" 8" 1/4"
M.__Mﬁ_mﬂ Mﬂmm is N . 1/4 1/4"
installed and 8" x 1/4" x 2" x 1/4" x
lock box is 8" plate 1’—6” bar
positioned 2" x 1/4” x l/ 8" x 1/4" x 6"¢ post
correctly 1'—6" Uoﬂlj // |// M 8” bar
k typ. @ 7 ” v -
N YP " 4
S \ /4 corners 5 1/2 s \j \\lﬁ gate @ closed position
!
- i = £ 3"°x3"x1/4"x1'=0" l_% ©
NG / k hole fof "m N ) welded to post
M .
| locking ~ 1T ” . H 1—1/4"R N
sch pin & N____u Mw_.:_mo_.m W\:m__ w@\_.m " / < lag bolt passed through nut 3~
N N 40 Evm. \J //; — 1 A pper p Y. 8" x 1/4” x 8" T & welded to angle iron \\ R
N N Ry ¥ —
N| = N 1] ] s plate w/hole spacer T
SR TR < I~ oo, @ nut /ﬁ O
JI0® ¥ o 1/4 - hook fab. from #4 steel rod
% x 7" long welded to nut
2 ~ H— 8" x 1/4" x
< " "
=l 2 x..A\\_. |x\\ H \\ 1'-6" plate
Ly 15 bar A STa TOP VIEW FRONT VIEW
" ” - plate
174 __VNL 3ro/8 3-5/8 bl — h—
N . . ] i CATE HOOK
> 8" x 1/4" x 3/4 - .
1-6" plate }/ (To secure gate in open position)
&/ \latch ELEVATION
PLAN VIEW
LOCK BOX DETAIL > 1727 12" |
14 post with
hinge post Q\_ooxcox
v C€ hinge
£ 3"x3"x 1/4"x J g ()
1'-0" long I/Ifk = \
pipe
1/4” latch
2" -
11/16” " 7" steel rod S
— [ 11/16" —] 1/2 clip 3/870 45° \TA\N.. ¢ hole \\ &
o 5/8" | i J_f
N 1 H 2
~ 1/4 - o~ |
41 AN ag bolt welded
| | 1/4 * « T to angle iron
— _ _ ” ” ” _ 2
=T || _. QT © T GATE _HOOK—OPEN POSITIO
5, > pin "A ommmﬂ:_u_v\l/’ w/rect. hole "
I ] no w .
« N = bars,2"x1/2"x ’\\ > w
5 10-5/8" w/2 holes s | ©
2| oo pin "B” bar, 5/8" 508 |4
5 ™ pin °C 2"x1/2"x3-1/2" /88 % | L i
2| SECTION A CONN ) s on *8 e gl
~ + 5 (drill) NOTE:
R - B ~N Y Y Remove burrs, especially
o~ « = 5 grind edges & H « u O/ + + those around lift hole.
corners of all
— pins & holes
N R smooth /(E: "c¢” (2-req"d) bars, 1-1/4"x
< W N 1/2°x3=1/2" w/2 holes WELDING SYMBOL LEGEND
o 5/8" . A
5/8" 1,16 \\r field weld
1/4" 1/4" 11/16” e weld all around
i weld this side
3-1/2 —
\\|V weld other side
FRONT VIEW SIDE VIEW

LOCKING PIN

Drawing not to scale.

LOCKBOX AND LOCKING PINS

O NRCS

Natural Resources Conservation Service

File Name

or_gates.dwg

Drawing No.

Sheet of

Title

United States Department of Agriculture




